Table 1: IEEE Single Format

+ | ajagas...ag

b1b2b3 . . . bos

If exponent bitstring a; ... ag is

Then numerical

value represented is

(00000000)3 = (0) 10 £(0.0109b3 ... bag)a x 2 120
(00000001)5 = (1)1 £ (1.b1D9b3 .. byz)a X 2120
(00000010)2 = (2)10 i(l.blbgbg e b23)2 x 27125
(00000011)2 = (3)10 i(l.blbgbg ce 1)23)2 x 2124
3 3
(01111111)5 = (127)19 +(1.b1bgbs . .. ba3)g x 20
(10000000)2 = (128)10 i(lblbgb3 R b23)2 X 21
\3 3
(11111100)5 = (252)10 £ (1.b1bobs . .. bag)a x 2125
(11111101)5 = (253)10 £ (1.b1bobs . . . bog)a x 2126
(11111110)5 = (254)10 £ (1.bybobs . . . baz)a x 2127
(11111111)5 = (255)19 +o00 if by = ... = bgg = 0, NaN otherwise




